258

¥

5w
AYZANIY

YR E
BE&RLEER

FEEF
HEIF
EIARF

b5 HmE
HINY RERE

ERES

EIES

FRZ
T b
TV

TARIV K
74Ty b

itk A=

LooNince BFTERIE QR I— RHS HP AT 4 £

v FRIRfE#RE (BRF)

EvF | RIHK mE mt BfF2 147 N—
(mm) MR | YN EEN | REYE

57 M3 X 0.5 | H-42A-SUS-3 ATV LAY REFE P=57 O 273
63 M5 X 0.8 | H-38 EVES @) 309
64 M4 X 0.7 |H-212-3 HF P=64 O 269
65 M4 X 0.7 | H-10-2 7—/\—ERF P=65 O 268
68 M5 X 0.8 H-17-6 AUHEERF P=68 ®) 264
H-17-SUS-7 ATV L ZABEF (X2 Y FfT) P=68 O 264

H-17A-SUS-7 ATV L ZAAEIWF (X2 Y FF2) P=68 O 265

70 M5 X 0.8 H-71-3 FEERF P=70 @) 279
72 M3 X 0.5 | H-42A-SUS-2 ATV LAY IREE P=72 O 273
M5 X 0.8 | H-176-SUS ATV L AR EIRERF @) 299

80 M4 X 0.7 | H-153-SUS-4 ATV L AZYIREFE P=80 O 274
85 M3 X 0.5 | H-132-SUS-4 ATV L ABF P=85 @) 271
M6 X 1.0 |H-1-2 U BIERF (R&2 v FfF) P=85 O 267

H-1A-2 UBIERF (R2 Y F+2) P=85 @) 267

88 M4 X 0.7 | H-42A-SUS-1 ATV LAY IREEF P=88 O 273
90 M8 X 1.25 |H-34-3 HYF P=90 O 278
92 M5 X 0.8 | H-133-SUS-3 AT L ABFE P=92 O 271
96 M4 X 0.7 | H-210-SUS-4 ATV L ABF P=96 @) 270
H-211-SUS-5 ATV L AEF P=96 O 270

H-212-2 HYF P=96 @) 269

100 M4 X 0.7 H-56 pak 3 ES O 266
H-153-SUS-3 AT L AT YIREEF P=100 @) 274

M5 X 0.8 | H-17-SUS-6 A7V L AAERF (X2 v Fft) P=100 O 264
H-17A-SUS-6 ATV LAAERF (X2 Y F+<) P=100 @) 265

H-71-2 FUHEERS P=100 O 279

M6 X 1.0 | H-175A-SUS-4 A7 L AEFE P=100 @) 272

M10 X 1.5 |H-179 AIEIRETF (X2 v FA) O 298

101 M5 X 0.8 H-17-5 AHEERF P=101 (@) 264
102 M5 X 0.8 | H-16A-SUS-2 ATV L AAREF P=102 O 263
H-16B AREF @) 263

M6 X 1.0 H-1-1 U BIERF (R&2 vy RF) P=102 O 267

H-1A-1 UBIERF (RZ v FF2) P=102 @) 267

H-1A-SUS-1 AT VLA UBWF (X2y RF2) P=102 O 266

105 M5 X 0.8 | H-42-SUS-3 ATV LAY IREE P=105 O 274
110 M6 X 1.0 |H-17-SUS-5 ATV L AAERF (X2 Y F{F) P=110 O 264
H-17A-SUS-5 ATV LAAERF (X2 Y F+2) P=110 @) 265

H-140 FIERRW:ES @) 298

H-175A-SUS-3 ATV L AEF P=110 @) 272

120 M3 X 0.5 |H-132-SUS-2 ATV L AEF P=120 O 271
M5 X 0.8 | H-16A-SUS-1 AT L ZAAEELF P=120 @) 263

M6 X 1.0 |H-17-4 FUHEERE P=120 O 264
H-17-SUS-4 ATV L ARERF (X2 Y FfF) P=120 @) 264

H-17A-SUS-4 ATV LAAERF (X2 Y F+2) P=120 O 265

H-175A-SUS-2 AT L AEF P=120 @) 272

M8 X 1.25 | H-206-3 BfeB = 7NERF P=120 O 281

122 M6 X 1.0 | H-173 BIfER Y \EF @) 280
125 M6 X 1.0 |H-42-SUS-1 ATV L RAZTYREF P=125 O 274



BHIERIE QR A— FHS HP AT ZE R Loolince

EvF | IR mEE ¥ BfF241 7 N—Y
(mm) R YN | BER | REYR

128 M4 X 0.7 |H-210-SUS-3 ATV L ABRFE P=128 O 270
H-211-SUS-4 AT L ABE P=128 O 270
H-212-1 HF P=128 O 269
H-213 HYF P=128 @) 269
H-214 T7IVZEF @) 268
132 | M8 X 1.25 |H-177 RifEREF @) 281
142 M5 X 0.8 | H-133-SUS-2 ATV L ABFE P=142 O 271
150 M3 X 0.5 | H-132-SUS-1 AT~ L REFE P=150 @) 271
M6 X 1.0 |H-153-SUS-2 ATV L RAZTYIREF P=150 O 274
H-175A-SUS-1 AT~ L ZAEF P=150 @) 272
M8 X 1.25 |H-17-SUS-11 2TV L RAIERF (R2 v FAF) P=150 o] 264
H-17A-SUS-11 ATV L AAEIWF (X2 y R F2) P=150 @) 265
H-206-2 HiiEs =Y 7NEF P=150 (@) 281
160 M4 X 0.7 | H-210-SUS-2 27> L REF P=160 O 270
180 M5 X 0.8 |H-17-3 FUHEEE P=180 @) 264
H-206-1 Hifgs =Y 7NERF P=180 @) 281
184 M4 X 0.7 |H-211-SUS-3 2TV L ABRFE P=184 O 270
188 | M8 X 1.25 |H-17-SUS-3 AT L AAERF (X2 v Fft) P=188 O 264
H-17A-SUS-3 ATV L ANERF (R2y KF) P=188 O 265
200 | M8 X 1.25 |H-174-4 INA TEREF P=200 @) 282
212 M5 X 0.8 | H-133-SUS-1 ATV L ABFE P=212 o) 271
224 M4 X 0.7 | H-210-SUS-1 ATV L ABFE P=224 @) 270
238 | M8 X 1.25 |H-17-SUS-2 ATV L RAIERF (R2 v FF) P=238 @) 264
H-17A-SUS-2 ATV L RAIERF (RE2y FF3) P=238 O 265
288 | M8 X 1.25 |H-17-SUS-1 ATV L AAERF (R 2y FfF) P=288 O 264
H-17A-SUS-1 AT Y L AAERF (X2 FF2) P=288 @) 265
300 | M8 X 1.25 H-174-3 INA TEEF P=300 @] 282
334 M4 X 0.7 |H-211-SUS-2 AT L ABFE P=334 @) 270
400 M8 X 1.25 H-174-2 1A TERF P=400 (@) 282
H-200-3 I\A TEREF P=400 @) 282
484 M4 X 0.7 |H-211-SUS-1 AT L ABFE P=484 @) 270
500 | M8 X 1.25 |H-174-1 I\A TERF P=500 @) 282
600 | M8 X 1.25 H-200-2 INA TEEF P=600 @] 282
800 M8 X 1.25 | H-200-1 I\A TERF P=800 (@) 282

259

0]
15

|

HF

gy
I\ RIb

YRE
BE&RIEER

FEEF
BENF
SEARF

NS27A:ES
HINY BERF

RS

EIES

ARR
S [
7Vh—

TARIV K
7AF v b

a8



